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何凯文每日一句七月上

2018.7.1
今天的句子：

Nor, if regularity and conformity to a standard pattern are as desirable to the scientist as the
writing of his papers would appear to reflect, is management to be blamed for discriminating
against the “odd balls” among researchers in favor of more conventional thinkers who “work
well with the team.”
思考题：

第一个 As 是副词，表示正如！

第二个 AS 是代词，指代的是什么？

词汇突破：

1.regularity 常规性

2.conformity 一致性

regularity and conformity to a standard pattern
对于标准模板的遵守和认同

3.desirable 令人满意的，令人希望的，值得拥有的，

It is desirable that you should be there by two o’clock. (希望你两点能到那里。)
4. in favor of 喜欢，青睐

In favor of 的用法就是直接做状语，算是一个固定搭配了吧。

=in exchange for another thing(更好和更需要的事物)
He abandoned teaching in favor of a career as a musician.
他不当老师，改做音乐了。

5. as:第一个 as 是一个副词，表示“正如”或者就是表示一种强调：

例句：He remained unmoved as before.
他如以往那样无动于衷。

第二个 as 是代词；因为 reflect 是及物动词，需要宾语；

这里不是大家熟悉的 as…as…结构

你们熟悉的 As …as 结构是这样的：

1）He is as tall as his father.
第一个 as 是副词，第二个 as 是介词。

（都知道副词+形容词；介词+名词吧）

2）He looks as ill as he sounded on the phone.
这里第一个 as 是副词，第二个 as 是连词。

因为连词+完整的句子：He sounded on the phone 是完整的句子。

（我们现在就知道 as 一共有四种词性了：代词，副词，连词，介词；）

6.conventional 传统的

7.to the scientist 对科学家而言

8. "odd balls" 思维诡异的人（怪咖）

切分:
1.状语从句：

if regularity and conformity to a standard pattern are as desirable to the scientist as the writing of
his papers would appear to reflect
为了方便你们理解，我们简化一下句子：
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regularity and conformity to a standard pattern= A
if A are as desirable to the scientist as the writing of his papers would appear to reflect

再切分：

1）if A are as desirable to the scientist
2）the writing of his papers would appear to reflect A
科学家的论文反应了一种 A，如果对于科学家而言，这种 A 正是科学家想要的。

把 A 带进去：

科学家的论文反应了一种对于标准模板的遵守和认同，如果对于科学家而言，这种对于标准

模板的遵守和认同正是他们所想要的。

（这种译本是最容易理解的。）

合并一下：

如果在科学家的论文中所反应出的对于标准模板的遵守和认同正是其所想得到的话。

（这种译本更流畅，更简洁。）

2.主句：

Nor 置于句首引起句子倒装，所以先还原主句：

（nor 习惯放在句首，还原到句中以后习惯换为 not,当然也可以不换。）

Management is not to be blamed /for discriminating against the "odd balls" among researchers
in favor of more conventional thinkers who work well with the team.
再切分：

1）Management is not to be blamed
2）for discriminating against the "odd balls" among researchers
3）in favor of more conventional thinkers who work well with the team.
参考译文 1：那么，就不应该因为管理者歧视研究者中的怪咖(思维与众不同的人)而更喜欢

能更好和团队合作的传统的思考者，而指责管理层了。

参考译文 2：那么(我们)就不应该指责管理层“歧视研究者中的怪咖而更喜欢善于团队合作

的传统的思考者”了。

整句译文：

如果科学家的论文写作反应了对于标准化模板的遵从和认同，(而且)这种遵从和认同又正是

(as)科学家所渴望和愿意(desirable)的，那么(我们)就不应该指责管理层“歧视研究者中的怪

咖(思维与众不同的人)而更喜欢善于团队合作的传统的思考者”了。

2018.7.2
今天的句子：

UKIP 是英国很逗比的一个政党。

全称是：United Kingdoms Independent Party
英国独立党

建立于 1992 年，该党的建党纲领就是促使英国早日脱离欧盟。

这样一来，2016 年英国脱欧之后，该党就很寂寞和迷茫了。

下一步他们该怎么办呢？

这篇文章的开头这样写道：

After the Brexit vote, it was a party without a point. Now it is reinventing itself as an extremist
anti-migrant party
然后有了这个句子：
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Unable to woo back its old voters with the carrot of Brexit, Ukip’s last manifesto focused on
trying to mop up the most hardcore anti-immigration sentiment by more clearly spelling out an
anti-Muslim agenda.
The phrase “mop up” (Para. 2) most probably means________.
(A) absorb (B) remove
(C) clean (D) wash
词汇突破：

1. Brexit vote 脱欧投票

2. without a point 没有影响力，没有分量

3. manifesto 宣言

4. mop up 清除；吸收

5. hardcore 中坚的；坚定的

6. anti-immigration sentiment 反移民（情绪）

7. spell out 制定

8. anti-Muslim agenda 反穆斯林的安排（计划）

9. reinvent 重新塑造，改造

10. woo back 拉拢，重新获取支持 （woo : 争取支持，追求，求爱）

11. carrot 胡萝卜（比喻：诱惑物）

第一句：

After the Brexit vote, it was a party without a point.
脱欧投票之后，这个英国独立党已经成为一个没有影响力的政党。

第二句：

Now it is reinventing itself as an extremist anti-migrant party.
现在他在将自己重塑为一个极端的反移民政党。

第三句：

Unable to woo back its old voters with the carrot of Brexit, Ukip’s last manifesto focused on
trying to mop up the most hardcore anti-immigration sentiment by more clearly spelling out an
anti-Muslim agenda.
切分：

1. Unable to woo back its old voters with the carrot of Brexit,
2.Ukip’ s last manifesto focused on trying to mop up the most hardcore anti-immigration
sentiment
3.by more clearly spelling out an anti-Muslim agenda.
参考译文：由于无法用英国退欧的胡萝卜来拉拢自己的老选民，英国独立党的最后宣言的重

点是通过更明确地阐明一个反穆斯林议程来吸收最顽固的反移民情绪。（获得这些反移民群

体的支持。）

这个题目解题的关键是第二句：

现在他在将自己重塑为一个极端的反移民政党。

所以第三句对于反移民的情绪他就不可能是：

(B) remove （去除） (C) clean （清除） (D) wash （洗掉）

（而且这三个选项的意思基本一致的，可以直接同时排除啊！）

他们一定会去吸收反移民的情绪，这样才符合他们重塑自己为反移民政党的目标啊！答案只

能是 A
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2018.7.3
今天的句子：

The music industry and YouTube are set to go head-to-head this week in a crucial vote in Brussels
that could force the digital giant to pay billions of dollars in fees to popular artists such as Taylor
Swift, Ed Sheeran and Katy Perry.
思考题：

The music industry and YouTube will work together to fight for the rights of popular artists.
词汇突破：

1.The music industry：音乐行业

2. head-to-head
注意看英语解释：in which two people or groups face each other directly in order to decide the
result of a disagreement or competition

adj.正面交锋的；面对面的:
a head-to-head battle / clash / contest
正面战斗/冲突/竞争

• ˌhead-to-'head adv.:
They are set to meet head-to-head in next week's final.
他们将在下个星期的决赛中正面交锋。

are set to go head-to-head 准备正面交锋

（有同学会担心说， 万一在考场上遇到这样的短语就死了。）

3. a crucial vote in Brussels
布鲁塞尔是欧盟总部所在地，所以这里指的就是欧盟的投票

4. the digital giant 提示：没有无缘无故的爱，没有无来由的名词；

行文到这里突然来了一个“数字巨人”，而且还加了一个 the; (加 the 可以表示上文提到过的

人或者事物。你就可以想一下：YouTube是不是就是这个数字巨人了。

于是乎你就应该反思一下 head-to-head 到底是什么意思了。（当然了，你可以说一个句子的

信息还不充分，多给我几个就好了。这个当然是很好的。但如果既能把握宏观信息，还是能

精准把握有限信息。那不更好吗。）

重点提示：有同学会担心万一在考场上遇到 head-to-head 这样的短语就死了。其实不用担心：

1）有我在，我要是看到这样的短语我就会给你积累。到了年底再带着你过一遍，保你不死！

2）我们还可以用宏观主题信息来做题！

5. billions of dollars in fees 数十亿美金的费用

切分：

1.The music industry and YouTube are set to go head-to-head this week
2. in a crucial vote in Brussels
3.that could force the digital giant to pay billions of dollars in fees to popular artists such as Taylor
Swift, Ed Sheeran and Katy Perry.
That= vote
参考译文:本周，音乐行业和 YouTube 将在布鲁塞尔进行关键的投票中进行正面交锋，这次

投票可能会迫使这家数字巨头向泰勒·斯威夫特(Taylor Swift)、埃德·希兰(Ed Sheeran)和凯

蒂·佩里(Katy Perry)等受欢迎的流行音乐艺术家支付数十亿美元的费用。

背景介绍：长期以来，Youtube 对于音乐版权的保护都不充分，这是全球音乐产业对其很不

满的地方。很多歌手的歌曲 MV 都可以在 YouTube上免费观看，而网站不用支付任何费用。
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Youtube 表示上传这些视频的又不是官方，而是一个个的用户。你们要是提出申请，我就可

以删除。但是大家都知道，这些申请的流程是非常缓慢的，而且也是很难监管的。同时，这

些视频为 Youtube 带来了巨大的流量。Youtube 也因此而赚了不少。所以音乐产业就认为

Youtube 应该为此向歌手以及词曲作者支付费用。Youtube 则又补充说，要是没有我们网站

的传播，很多歌曲不可能如此流行，我们也帮你们做了推广。双方各执一词。世界唱片协会

向欧盟提出了申请，希望欧盟就 Youtube 是否应该支付版权费用投票表决。

所以思考题：

The music industry and YouTube will work together to fight for the rights of popular artists.
音乐界和 YouTube 将共同努力，争取流行艺术家的权利。

这个说法就是不对的。

2018.7.4
今天的句子：

Already there is much speculation that Donald Trump’s nominee to replace Kennedy will be, if
confirmed, the decisive vote to overturn Roe v Wade, the decision legalizing a woman’s right to
have an abortion.
思考题：

Donald Trump is against a woman’s right to have an abortion.
词汇突破：

1.speculation： 猜测

2. nominee：提名

3. confirm 确认

4. the decisive vote 决定性的一票

5. overturn 推翻

6. legalize 使…合法化

切分：

1.Already there is much speculation that
已经有很多人猜测

2.Donald Trump’s nominee to replace Kennedy will be the decisive vote to overturn Roe v Wade,
唐纳德.特朗普(Donald Trump)提名的接替肯尼迪(Kennedy)的候选人将是推翻罗伊诉韦德案

(Roe v Wade)的决定性的一票

3., if confirmed,
=if the nominee is confirmed
如果得到批准

4.the decision legalizing a woman’s right to have an abortion.
该(案件的)判决将女性堕胎权合法化。

参考译文：已经有很多人猜测，唐纳德.特朗普(Donald Trump)提名的接替肯尼迪(Kennedy)
的候选人，如果得到批准，将是推翻罗伊诉韦德案(Roe v Wade)的决定性的一票，该(案件的)
判决将女性堕胎权合法化。

思考题：

Donald Trump is against a woman’s right to have an abortion.
特朗普反对女性堕胎的权利！
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2018.7.5
今天的句子：

We are not supposed to think of the world in terms of us and them, yet it is impossible, moving
between the two countries, not to see the welfare state, the NHS, and the philosophy that
underpins them, as the greatest differences between society in the UK and the one in the US.
思考题：

The NHS is one of the biggest differences for people moving between the UK and the US．
词汇突破

1.in terms of 就…而言

2. underpin 加强，巩固，构成（基础等）

3. welfare state 福利国家 （福利国家是国家通过创办并资助社会公共事业，实行和完善一

套社会福利政策和制度，对社会经济生活进行干预，保证社会秩序和经济生活正常运行的一

种方法。）

4. NHS(National Health Service)，即英国国家医疗服务体系，这个体系一直承担着保障英国全

民公费医疗保健的重任，遵行救济贫民的选择性原则，并提倡了普遍性原则。

5.see A as B 重点搭配：认为 A 是 B
View A as B= treat A as B = accept A as B= portray A as B=identify A as B

(认为 A 是 B；) 这些搭配还可以写成：

View as B A=accept as B A= portray as B A
6. be supposed to do sth： 应该做某事

切分：

1. We are not supposed to think of the world in terms of us and them,
我们不应该按“我们”和“他们”的视角来看待这个世界

2. , moving between the two countries,
在两国间移动

3. yet it is impossible not to see （the welfare state, the NHS, and the philosophy that underpins
them,） as the greatest differences between society in the UK and the in the US.
（1）the welfare state, 福利国家

（2）the NHS 国家医疗服务体系

(3) the philosophy that underpins them 作为其基础的哲学

(them= the welfare state, the NHS)
不可能不把福利国家、国家医疗服务体系以及作为其基础的哲学视为英国和美国社会之间最

大的差异。

参考译文：我们不应该按“我们”和“他们”的视角来看待这个世界，然而，在两国间移动，

不可能不把福利国家、国家医疗服务体系以及作为其基础的哲学视为英国和美国社会之间最

大的差异。

思考题：

The NHS is one of the biggest difference for people moving between the UK and the US．
对于在英国和美国间来回穿梭的人们而言，NHS 是最大的不同之一。

所以是正确的！

2018.7.6
今天的句子：

It’s fairly well-known that a bad diet, a lack of exercise, and genetics can all contribute to type 2
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diabetes. But a new global study points to an additional, surprising culprit: the air pollution
emitted by cars and trucks.
思考题：

According to a new study, the air pollution is one possible reason for type 2 diabetes.
词汇突破：

1.type 2 diabetes 二型糖尿病

2. culprit 肇事者，引起问题的事物，罪魁祸首

3. additional 另外的

4.bad diet 糟糕的膳食

5.a lack of exercise 缺乏锻炼

6. genetics 基因

第一句：

It’s fairly well-known that a bad diet, a lack of exercise, and genetics can all contribute to type 2
diabetes.
切分：

1.It’s fairly well-known that
2. a bad diet, a lack of exercise, and genetics can all contribute to type 2 diabetes.
参考译文：众所周知，不良的饮食习惯、缺乏锻炼以及遗传因素都会导致 2 型糖尿病。

第二句：

But a new global study points to an additional, surprising culprit: the air pollution emitted by cars
and trucks.
切分：

1. But a new global study points to an additional, surprising culprit:
2. the air pollution emitted by cars and trucks.
参考译文：但一项新的全球研究指出了另一个令人惊讶的原因：汽车和卡车排放所造成的空

气污染。

想知道为什么吗？可以点看原文链接哦。

思考题：

According to a new study, the air pollution is one possible reason for type 2 diabetes.
根据一项新的研究，空气污染是 2 型糖尿病的一个可能的原因。

完美的同义替换！正确！

2018.7.7
今天的句子：

泰特圣艾夫斯美术馆(Tate)建在一座海滨小城，但是由于地域的限制，只能举办一些小的展

览。去年准备扩建。

The original proposal to extend produced a lot of “Stop the Tate” posters in windows
throughout the town, and protests about everything from property prices being driven up by arty
incomers to the loss of parking spaces.
After extensive public consultation, the architects’ eventual solution was to double the gallery
space by excavating into the hillside behind the original building .
思考题一：

The original extension plan caused many protests from art lovers.
思考题二：
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The final solution is based on the response from the public.

词汇突破：

1. original proposal to extend：最初的扩建建议

2. produce 导致

3. “Stop the Tate” posters 停止扩建泰特美术馆的海报

4. property prices 房价

5. arty incomers 爱好艺术的新来人口

6. parking spaces 停车位

7. gallery 美术馆，艺术馆

8. excavate 挖掘，开凿

9. hillside 山坡

第一句：

The original proposal to extend produced a lot of “Stop the Tate” posters in windows
throughout the town, and protests about everything from property prices being driven up by arty
incomers to the loss of parking spaces.
切分：

1.The original proposal to extend produced a lot of “Stop the Tate” posters in windows
throughout the town,
原来扩建计划使得全城的窗户上贴上很多“阻止泰特”的（抗议）海报，

2. and （produced ）protests 还引发了各种抗议，

结构提取:A produced B ,and C
(逗号就是个逗比，哪里都可以！必要被迷惑，逗号就是写着写着作者觉得可以停一下了，

就打上了。理论上每个词后面加逗号都是没有问题的。)
3. about everything from (property prices being driven up by arty incomers) to the loss of parking
spaces.
内容包括从房地产价格被爱好艺术的新来人口给推高到停车位的损失等所有事情。

结构提取：about everything from A to B;
A= property prices /being driven up by arty incomers

参考译文：

原来扩建计划使得全城的窗户上贴上很多“阻止泰特”的（抗议）海报，还引发了各种抗议，

内容包括从正在被爱好艺术的新来人口给推高的房价到停车位的损失等所有事情。

思考题一：

The original extension plan caused many protests from art lovers.
最初的扩建计划导致了很多来自爱好艺术的人士的抗议。

所这里的是偷换！

扩建没有引起来自爱好艺术的人士的抗议。

是居民在抗议正在被爱好艺术的新来人口给推高的房价到停车位的损失等所有事情。

所以不对！

第二句：

After extensive public consultation, the architects’ eventual solution was to double the gallery
space by excavating into the hillside behind the original building .
切分：
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1. After extensive public consultation,
经过广泛的公众咨询后，

2. the architects’ eventual solution was to double the gallery space
建筑师最终的解决方案使画廊空间翻倍

3. by excavating into the hillside behind the original building .
在原有建筑后面的山坡进行开凿

参考译文：

经过广泛的公众咨询后，建筑师最终的解决方案是在原有建筑后面的山坡进行开凿，进而使

画廊空间翻倍。

思考题二：

The final solution is based on the response from the public.
最终的解决方案是基于来自公众的反馈的。

对于句子开头：经过广泛的公众咨询后，

所以这个说法是正确的！

2018.7.8
今天的句子：

英国男人绅士？不存在的，哪里都有渣的。

A graphic went viral on social media ahead of England’s World Cup match against Tunisia,
claiming: “No one wants England to win more than women.” Published by the domestic abuse
charity Pathway Project, it explained that domestic abuse rates increase by 38% when England
lose.
思考题：

One outfit revealed that there is some possible connection between domestic violence and
football match.
词汇突破：

1.A graphic went viral on social media 社交媒体上流传着一幅图表

（sth go viral on social media: 非常好的写作句型；可以用于图画或者图表作文的第一段）

This graphic,if posted on the Weibo, will go viral on it.
这个图表如果贴在微博上，一定会获得广泛的关注。

虽然，viral 是一个贬义词，病毒的意思，但是这个短语本身是中性的。

2.ahead of：在…之前

3. the domestic abuse charity （防止）家庭暴力的慈善机构

这和之前有意识的（反）歧视训练，是一个路数；.（还记得吗？）

unconscious bias training 无意识的反歧视训练

4. outfit 机构，小组

第一句：

A graphic went viral on social media ahead of England’s World Cup match against Tunisia,
claiming: “No one wants England to win more than women.”
切分：

1.A graphic went viral on social media ahead of England’s World Cup match against Tunisia,
2.claiming: “No one wants England to win more than women.”
Claiming 的发出者是 graphic
参考译文：
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在英格兰与突尼斯的世界杯比赛前，一副图表在社交媒体上迅速传播开来，并声称：“没有

人比女人更希望英格兰队赢。”

第二句：

Published by the domestic abuse charity Pathway Project, it explained that domestic abuse rates
increase by 38% when England lose.
切分：

1. Published by the domestic abuse charity Pathway Project,
= it is published by…
2. it explained that domestic abuse rates increase by 38% when England lose.
It= the graphic
参考译文：这个图表是由防止家庭虐待慈善组织 Pathway Project 发布的，这个图表解释说，

当英国队输球时，家庭虐待率上升了 38%。
思考题：

One outfit revealed that there is some possible connection between domestic violence and
football match.
一个机构表示，家庭暴力和足球比赛之间可能存在某种联系。

所以这是完美的同义替换！

2018.7.9
今天的句子：

作为一家石油巨头，壳牌公司却在很多场合表示了对于电动汽车产业的支持。

这是为什么?
Shell also bought the UK’s biggest challenger electricity and gas supplier recently, so it stands to
benefit if more motorists plug in their cars.Ben van Beurden, Shell’s chief executive, tells
investors that he is not spending up to $2bn (£1.5bn) a year on green stuff just for the company’
s reputation. So straightforward self-interest explains a lot.
思考题：

Self-interest gives explanations to Shell’s investment on electricity supplier.
词汇突破：

1. stands to benefit: 获益

2. plug in their cars: 给自己的汽车充电（这里指的就是选择新能源汽车）

3. straightforward self-interest：直截了当的利己主义

4. up to 达到

5. green stuff 环保产品

第一句：

Shell also bought the UK’s biggest challenger electricity and gas supplier recently, so it stands to
benefit if more motorists plug in their cars.
切分：

1.Shell also bought the UK’s biggest challenger electricity and gas supplier recently,
壳牌最近还收购了英国最大的有竞争关系的电力和天然气供应商，

2.so it stands to benefit if more motorists plug in their cars.
因此，如果更多的汽车司机插上电源，该公司将从中受益

参考译文：因此，壳牌最近还收购了英国最大的和自己有竞争关系的电力和天然气供应商，

如果更多的汽车司机插上电源，该公司将从中受益。
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第二句:
Ben van Beurden, Shell’s chief executive, tells investors that he is not spending up to $2bn
(£1.5bn) a year on green stuff just for the company’s reputation.
切分:
1.Ben van Beurden, Shell’s chief executive, tells investors that
壳牌首席执行官本·范伯登(Ben van Beurden)告诉投资者，

2.he is not spending up to $2bn (£1.5bn) a year on green stuff just for the company’s reputation.
他不会仅仅为了公司的声誉而在环保产品上花费多达 20 亿美元（£15 亿）的资金。

参考译文：壳牌首席执行官本·范伯登(Ben van Beurden)告诉投资者，他不会仅仅为了公司

的声誉而在环保产品上花费多达 20 亿美元（£15 亿）的资金。

第三句：

So straightforward self-interest explains a lot.
所以直截了当的利己主义解释了很多。

所以昨天的思考题：

Self-interest gives explanations to Shell’s investment on electricity supplier.
利己主义解释了壳牌在电力供应商上的投资。

正确！大家最近的正确率有点高哈！

我得出点招了！

后续：文章末尾作者说道，其实壳牌还是投资新能源很大程度还是因为 reputation；在遇到

环保组织或者环保人士抵制的时候他们会说我们一直在致力于转型。这样能让他们更理直气

壮的卖石油，毕竟石油才是他们大买卖。

2018.7.10
今天的句子：

Beyond this, liberal Europe has to find ways of addressing those deep emotional needs for
community and identity that populists exploit. For the foreseeable future, it is an illusion to
believe that any transnational or supranational identity can compete with national identity which
remains an incomparable source of passion and belonging.
思考题一：

The supranational identity is just an illusion for the lack of passion and belonging.
思考题二：

Liberal Europe should use national identity to compete with supranational identity.
词汇突破：

1. Beyond this 除此之外

2. address 应对

3. populists 民粹主义者

4.exploit 利用

5. the foreseeable future 可预见的未来

6. illusion 幻想

7. transnational 跨国的

8. supranational 超越国界的

9. incomparable 无可比拟的

第一句：

Beyond this, liberal Europe has to find ways of addressing those deep emotional needs for
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community and identity that populists exploit.
切分：

1.Beyond this,
2.liberal Europe has to find ways of
3.addressing those deep emotional needs for community and identity that populists exploit.
解析：addressing those deep emotional needs
for community and identity
that populists exploit.
(that= deep emotional needs)

参考译文：除此之外，自由欧洲必须找到办法来应对那些民粹主义者所利用的对社区和身份

的深刻情感需求。

第二句：

For the foreseeable future, it is an illusion to believe that any transnational or supranational
identity can compete with national identity which remains an incomparable source of passion
and belonging.
切分：

1.For the foreseeable future,
2.it is an illusion to believe that any transnational or supranational identity can compete with
national identity
3. which remains an incomparable source of passion and belonging.
参考译文：在可预见的将来，认为任何跨国或超国家认同能与国家认同相竞争，都是一种幻

想。国家认同仍然是激情和归属的无可比拟的源泉。

思考题一：

The supranational identity is just an illusion for the lack of passion and belonging.
（超国家认同只是一种幻想,因为缺乏激情和归属感。）

这是一个一个拼凑的说法。

文中说的是：认为任何跨国或超国家认同能与国家认同相竞争，都是一种幻想。

思考题二：

Liberal Europe should use national identity to compete with supranational identity.
（自由欧洲应该利用国家认同来与超国家认同相竞争。）

这也是一个拼凑的选项。

准确讲应该是自由欧洲应该用国家认同来为自由主义服务，为超国家认同服务。而不是和超

国家认同竞争。

所以是错误的。

2018.7.11
今天的句子:
It remains unclear, too, whether the programs can consistently recruit enough high-potential
students to sustain profitable operations once they exhaust their venture capital.
思考题：

The programs now are partly sustained by funds from investors.
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词汇突破：

1. consistently：持续地

2. recruit 招募

3. high-potential 高潜力的

4. sustain 维持

5.profitable operations 盈利的运作

6. exhaust 耗尽

7. venture capital 风险资本=风险投资（来自于投资人的）

这是必须知道的考研中的经济学词汇。

是不是不认识这次而选错了啊？

再给你补充一个常识，公司的成本都可以叫做：

Operational cost 运营成本

切分：

1.It remains unclear, too,
2. whether the programs can consistently recruit enough high-potential students to sustain
profitable operations
3.once they exhaust their venture capital.

参考译文：目前还有一件事情不清楚，一旦这些项目耗尽了风险资本，它们是否能够持续招

聘足够多的高潜力学生，以维持盈利的运作。

思考题：

The programs now are partly sustained by funds from investors.
这些项目目前部分靠投资者的资金维持。

所以这个说法是正确的。

（为了怕有些同学挑理，我还专门加了 partly 这个词。其实在真题的选择题替换中出题人是

不会加这个词的。）

今日拓展链接：（很走心哦！）

原文：Supporters of smoking insisted that the antismoking lobby was out to destroy our way of
life and the government should stay out of the way.
选项：An argument made by supporters of smoking was that people had the freedom to choose
their own way of life.
原文：Shippers who feel they are being overcharged have the right to appeal to the federal
government’s Surface Transportation Board for rate relief, but the process is expensive,
time-consuming, and will work only in truly extreme cases.
选项：Overcharged shippers are unlikely to appeal for rate relief.

2018.7.12
今天的句子：

Meat industry lobby recently defeated two measures seen as “anti-meat”. First, the French
parliament dropped a proposal to introduce at least one vegetarian school meal a week. Then it
voted in favour of a ban of the use of meat-related words such as “sausage” or “bacon” for
the selling of veggie or vegan alternative products.
思考题：

French parliament’s decisions were seen as “anti-meat”.
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词汇突破：

1. defeat 击败

2. Meat industry 肉类行业

3. French parliament 法国议会

4. dropped a proposal （放弃）否定掉一个提案

Drop 的反义词是 pick ,现在知道了吧！

天天都在说 pick me! Pick me！
你今天就被这个题给 drop 了吧!

5. voted in favour of 投票支持

6. meat-related words 与肉相关的词汇

7. veggie or vegan alternative products 纯素食或纯素替代产品

第一句：

Meat industry lobby recently defeated two measures seen as “anti-meat”.
参考译文：肉类行业的游说集团最近挫败了两个被视为“反肉类”的措施。

第二句：

First, the French parliament dropped a proposal（提议） to introduce at least one vegetarian
school meal a week.
切分：

1. First, （这个词很有误导性，这里其实不是说第一个措施，而是有一件事；）

2.the French parliament dropped a proposal（提议）

3.to introduce at least one vegetarian school meal a week.
参考译文：首先，法国国会放弃了学校每周至少引入一次素食餐的提议。

第三句：

Then it voted in favour of a ban of the use of meat-related words such as“sausage”or“bacon”
for the selling of veggie or vegan alternative products.
切分：

1.Then it voted in favour of a ban
It= the French parliament

2.of the use of meat-related words such as “sausage” or “bacon”
3. for the selling of veggie or vegan alternative products.
参考译文：其次国会投票支持禁止销售纯素食或纯素替代产品时使用诸如“肠”或“培根”

等相关肉类词汇。

解析：

你要弄明白 two measures 是什么？

第一个 measure：a proposal to introduce at least one vegetarian school meal a week
学校每周至少吃一次素餐；（这个你比较容易懂是“反肉类”的）

第二个 measure: the use of meat-related words such as“sausage” or“bacon” for the selling
of veggie or vegan alternative products
销售纯素食或纯素替代产品时使用诸如“肠”或“培根”等相关肉类词汇。

（这个为什么是反肉类的，你可能不太容易懂，不懂就听一下语音吧，懂就算了。）

第一个措施被法国议会否决了（drop）
第二个被法国议会给投票禁止了（ban）
所以法国议会的决定不是反肉类的!
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这就是偷换！！！所以思考题是错误的！

2018.7.13
今天的句子：

Just how much does the Constitution protect your digital data? The Supreme Court will now
consider whether police can search the contents of a mobile phone without a warrant if the
phone is on or around a person during an arrest.
思考题：

The Supreme Court will work out whether, during an arrest, it is legitimate to ________.
[A] search for suspects’ mobile phones without a warrant
[B] check suspects’ phone contents without being authorized
[C] prevent suspects from deleting their phone contents
[D] prohibit suspects from using their mobile phones
词汇突破：

1. the Constitution 美国宪法

2. The Supreme Court 最高法院

3. a warrant 授权令，搜查令，执行令

4. legitimate 合法的，合理的

5. being authorized 授权

6. prevent sb from doing sth 阻止某人做某事

7. prohibit sb from doing sth 禁止某人做某事

第一句:
Just how much does the Constitution protect your digital data?
参考译文：宪法在多大程度上保护了你的数字数据呢？

第二句：

The Supreme Court will now consider whether police can search the contents of a mobile phone
without a warrant if the phone is on or around a person during an arrest.
切分：

1.The Supreme Court will now consider
2. whether police can search the contents of a mobile phone without a warrant
3. if the phone is on or around a person during an arrest.
参考译文：最高法院现在将考虑，如果在逮捕期间，手机就在犯罪嫌疑人身上或周围，警察

是否可以在没有搜查令的情况下搜查移动电话的内容。

思考题：

The Supreme Court will work out whether, during an arrest, it is legitimate to ________.
最高法院将确定，在逮捕期间，以下行为是否合法

[A] search for suspects’ mobile phones without a warrant
查找嫌疑犯的移动电话

[B] check suspects’ phone contents without being authorized
未经授权检查嫌疑人电话内容

[C] prevent suspects from deleting their phone contents
防止嫌疑人删除手机内容

[D] prohibit suspects from using their mobile phones
禁止嫌疑人使用手机
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Ｃ和Ｄ是做题的时候给自己加戏！直接排除！

最大的干扰来自 A 选项！

原文: whether police can search the contents of a mobile phone without a warrant.
警察是否可以在没有搜查令的情况下查看移动电话的内容

而 A 选项是查找手机在哪里!
所以是偷换！

B 选项是正确选项！

check suspects’ phone contents= search the contents of a mobile phone
without a warrant= without being authorized
背诵：

A 句：whether police can search the contents of a mobile phone without a warrant.
B 句：whether it is legitimate to check suspects’ phone contents without being authorized
为什么要学ＡＢ句？

A 句是作者写的，B 句是出题人写的。

出题人说 B 句的意思和 A 句的意思是一样的。

出题人在告诉你，他的改写方法是什么，尺度在哪里。

背了 50 组以后你就了解出题人了。

这就是 AB 句对比背诵的意义！

2018.7.14
今天的句子：

It is the Environmental Protection Agency (EPA) that sets lead safety levels for drinking water
utilities, although the Food and Drug Administration (FDA) advises there is no safe amount of
lead once it gets into the bloodstream.
思考题：

EPA regulates the safety standards for lead in the drinking water.
词汇突破：

1.lead 铅 （这个真的是必考词汇）

2. Environmental Protection Agency (EPA) 美国环保署

3. Food and Drug Administration (FDA) 食品与药物管理局

4. drinking water utilities 饮用水的公共设施 （这个是解题的关键信息）

切分：

1.It is the Environmental Protection Agency (EPA) that sets lead safety levels for drinking water
utilities,
2.although the Food and Drug Administration (FDA) advises there is no safe amount of lead once
it gets into the bloodstream.

参考译文：

尽管美国食品和药物管理局（FDA）建议，一旦进入血液中，就不存在铅的安全含量这一说

了，但美国环境保护局（EPA）为饮用水公用设施设定了铅的安全标准。

思考题：

EPA regulates the safety standards for lead in the drinking water.
其中：regulate 可以等于 set;

Safety standards= safety level
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但是：drinking water ≠drinking water utilitites
所以这个说法是错的！

试想一下：这瓶水含铅量是安全的。谁也不敢喝啊。

顶多说这个水管含铅是多少，但是不会到水里去，是安全的。

这是我模仿昨天的 mobile content ≠ mobile 设计出来的一个题目。

希望能帮到大家。

2018.7.15
今天的句子：

In his latest book, Doing Our Own Thing: The Degradation of Language and Music and Why We
Should, Like, Care, John McWhorter, a linguist and controversialist of mixed liberal and
conservative views, sees the triumph of 1960s counter-culture as responsible for the decline of
formal English.
Mr. McWhorter’s academic speciality is language history and change, and he sees the gradual
disappearance of “whom,” for example, to be natural and no more regrettable than the loss of
the case-endings of Old English.
思考题：

According to McWhorter, the decline of formal English ________.
[A] is inevitable in radical education reforms
[B] is but all too natural in language development
[C] has caused the controversy over the counter-culture
[D] brought about changes in public attitudes in the 1960s
词汇突破：

1. controversialist 具有争议的人物

2. liberal and conservative views 自由派和保守派的观点

3. sees A as responsible for B： 认为 A 是 B 的原因

4. academic speciality：学术专长

5. see A to be natural ：认为 A 是正常的

6. see A to be no more regrettable than B : 认为 A 和 B 一样不令人遗憾

7.the loss of the case-endings of Old English 古英语格结尾的丢失

（我们知道现代英语中有主格和宾格；古英语中还有阴格和阳格等各种格；古时候的英语都

可以叫“格格”了。总之就是古英语的一种语言现象。）

8. but all too： 再…不过了；相当于 very;
9. inevitable 不可避免；radical 激进的

10.bring about 造成

11. controversy over A 对于 A 的争议； 这里的 over= about
12. counter-culture 反文化的运动

第一句：

In his latest book, Doing Our Own Thing: The Degradation of Language and Music and Why We
Should, Like, Care, John McWhorter, a linguist and controversialist of mixed liberal and
conservative views, sees the triumph of 1960s counter-culture as responsible for the decline of
formal English.
切分：

1. In his latest book,
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2.Doing Our Own Thing: The Degradation of Language and Music and Why We Should, Like, Care,
3.John McWhorter sees the triumph of 1960s counter-culture as responsible for the decline of
formal English.
4. , a linguist and controversialist of mixed liberal and conservative views,
参考译文：John McWhorter 是一位语言学家也是一位有争议的人，他既有自由派的观点又

有保守派的观点。他认为 1960 年代反文化运动的胜利造成了正式英语的衰退。

第二句：

Mr. McWhorter’s academic speciality is language history and change, and he sees the gradual
disappearance of “whom,” for example, to be natural and no more regrettable than the loss of
the case-endings of Old English.
切分：

1.Mr. McWhorter’s academic speciality is language history and change,
2. and he sees the gradual disappearance of “whom,” for example, to be natural
3.and (to be) no more regrettable than the loss of the case-endings of Old English.
（注意并列引起的省略，考场上最好补全了再理解。）

the gradual disappearance of “whom,”就是 the decline of formal English 的例子。

参考译文：McWhorter 先生的学术专长是语言史和语言的改变，而且他认为比如像 whom 这

样表达的消失，是自然而然的事情；就和古英语中格结尾的消失一样不令人遗憾。

思考题：

According to McWhorter, the decline of formal English ________.
根据 According to McWhorter,（Mcwhorter 认为）和 the decline of formal English 我从原文中

为大家找了这两个句子；因为在原文相应的段落区间中只有这两个句子是 Mcwhorter 的观

点且包含有 the decline of formal English；
题干一定要和选项放在一起看！

1. the decline of formal English is inevitable in radical education reforms
正式英语的衰退在激进的教育改革中是不可避免的。

（这个选项在原文对应句中没有谈到。）

2. the decline of formal English is but all too natural in language development
正式英语的衰退在语言的发展中是再自然不过的事情了。

（这个选项对应第二句的第二部分）

he sees the gradual disappearance of “whom,” for example, to be natural
这就是正确选项；

3. the decline of formal English has caused the controversy over the counter-culture
正式英语的衰退导致了对于反文化运动的争议。

错误有两个：

（1）原文没有 the controversy over the counter-culture
（2）原文中正式英语的衰退是结果，这里被写成了原因；

4. the decline of formal English brought about changes in public attitudes in the 1960s
正式英语的衰退造成了 1960 年代公众态度的改变。

changes in public attitudes in the 1960s
可以等于 the triumph of 1960s counter-culture；
但是因果被颠倒了；

所以判定为错误！

AB 句背诵：
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A 句：McWhorter sees the gradual disappearance of “whom,” for example, to be natural.
B 句：According to McWhorter, the decline of formal English is but all too natural in language
development.
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